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Elasticity - Change in Quantity divided by Change in Price.
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Price Elasticity of Demand - A measure of the % change of quantity demanded due to a % change in price.
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Divide Fractions : 
Flip and Multiply

a -> b b -> c c -> d d -> e e -> f

𝐸 = 2.33 𝐸 = 1 𝐸 = 0.43 𝐸 = 0.11

Elasticity Coefficient - A number that measures the responsiveness of quantity demanded the change price

Inelastic Demand - Quantity demanded that is not very responsive to a change in price 𝐸 < 1. (𝐹𝑜𝑜𝑑).

Elastic Demand - Quantity demanded that is quite responsive to a change in price 𝐸 > 1. (𝐷𝑖𝑎𝑚𝑜𝑚𝑑𝑠).

Unitary Elastic - The point where the % change in quantity is exactly equal to the % change in price. 𝐸 = 1.

Total revenue - The 
total receipts of the firm 
from its sales, 
calculated by its price 
multiplied by the 
quantity of the 
product's sold.

𝑇𝑜𝑡𝑎𝑙 𝑅𝑒𝑣𝑒𝑛𝑢𝑒 = 𝑃𝑟𝑖𝑐𝑒 × 𝑄𝑢𝑎𝑛𝑡𝑖𝑡𝑦

𝑇𝑅 = 𝑃𝑄

Absolute Value

             𝐼𝑛𝑒𝑙𝑎𝑠𝑡𝑖𝑐 −  𝐸 < 1 → Price falls, Total Revenue falls (Vice-versa)
                 𝐸𝑙𝑎𝑠𝑡𝑖𝑐 − 𝐸 > 1 → Price falls, Total Revenue rises (Vice-versa)
𝑈𝑛𝑖𝑡𝑎𝑟𝑦 𝐸𝑙𝑎𝑠𝑡𝑖𝑐 − 𝐸 = 1 → Price changes, Total Revenue does not change
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Think about it: at the top the percent change in price is 
smaller (on the denominator means the elasticity is greater)

Elasticity of Supply - The responsiveness of quantity supplied to a change in price.
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- If Elastic,    Decrease Price, Raise Revenue
- If Inelastic, Raise Price,        Raise Revenue
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Income Elasticity - The responsiveness of quantity demanded to change in income.
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Cross Elasticity of Demand - How the quantity demanded of product A responds to a change in the price 
of product B.

Causes a Shift in Demand.

Price Elasticity of Demand and Supply
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